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To solve contextual problems modelled by linear functions.
To solve contextual problems involving the characteristics of quadratic functions.

Example 1: Linear Application with Equation Given / maﬁ

Maya is making necklaces for a craft fair. It costs heréz 50 to make each necklace,;and she needs
to pay $49 to rent a table at the craft fair. i is modelled by the fonowmg equation:
C=2.5n+49 = RSEK +Y49

where n represents the number of necklaces made and C represents theé total cost.

a) Sketch a graph of this function. (When making a graph for a word problem, extra labelling is

required to show the shape, scale, and context.) :# 8 M{x‘. |
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b) Find Maya’s total cost if she plans to make 200 necklacesaYou can substitute the value for n
(200) into the equation but you can also use » the Z"“‘CALC 1:Value option on the graphing
calculator too. This is similar to the process that you use to find the y-intercept. Your teacher

will guide you through this method. R J "
N ,
C=4.5(200) +49 | [24) fmees )
|

| : T
C=$549 | om0
o Gl :H % = 200 o u'S"}" ﬁ:ﬁy‘g*

(0“'} 1.5 5"/? ’/ (N ([ -
260 neckiaws | A N>



Example 2: Linear Application with Eq

following equation:

L = 165- 8.5d

where d is the number of days that have passed and L is the amount of money he has left. Y -t

a) Sketc the graph
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b) State the%-ﬁ;lj\and range of this situation.
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¢) How much money does Ahmed have after 5 d_ays have passed?

£122.50 lyr || L= 165 -8.50(S)

t é e #,2 2.50
d) How much money does Ahmed have after 30 days have passed?
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e) When will Ahmed have SlOQ Ieft"-’ This is the same as asking you to find the x value when you
| know the y value. In this s case, y you will be finding the d-value when you know the L-value. This
i is the same process that you used to find the x-intercepts of functions. You will enter an
equation into the y = screen (¥, = 100) and then use 2" CALC: 5: intersect to solve for the d-
value. Your teacher will guide you through the process.
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